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Extra Practice 3

	Lesson 3.3: Multiplying Fractions

1.
Multiply. Estimate to check.


a)
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b)
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c)
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d)
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e)
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f)
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g)
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h)
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2.
Daphne replaced light bulbs in her mother’s store.
She had  eq \f(3,4) of a box of light bulbs. She used  eq \f(1,3) of the bulbs.


a)
What fraction of the box of light bulbs was left?


b)
How many light bulbs might be in a full box? Explain.

3.
Estimate each product.


a)
 eq \f(7,2) ×  eq \f(7,8)
b)
 eq \f(15,12) ×  eq \f(1,3)
c)
 eq \f(32,5) ×  eq \f(5,3)
4.
The product of two fractions is  eq \f(4,5). One fraction is  eq \f(2,3). 
What is the other fraction?

5.
Multiply. Simplify before multiplying if possible.


a)
 eq \f(7,9) ×  eq \f(18,21)
b)
 eq \f(9,10) ×  eq \f(5,18)
c)
 eq \f(4,15) ×  eq \f(20,28)
d)
 eq \f(7,20) ×  eq \f(10,21)



Extra Practice Sample Answers

Extra Practice 3 – Master 3.29

Lesson 3.3

1.

a)
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b)
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c)
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d)
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e) 2
f)
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g)
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h)
2
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2.

a)
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 of the box of light bulbs was left.



b)
A dozen, or any multiple of 12, because 
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 and 
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 have a common denominator of 12.

3.

a)
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is 3
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 and 
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is around 1, the product should be about 3
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b)
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is close to 1, 1 × 
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 = 
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; the product should be about 
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c)
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is close to 6 and 
[image: image36.wmf]5

3

is between 1 and 2, closer to 2, so the product should be about 12.

4.
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5.

a)
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b)
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c)
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d)
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